HEVERB—-F]I
NG I PNEUMATIC CO. LT R

A FE S $8& Specifications

41#&(mm)  Bore 16 [ 20 [ 25 [ 32 | 40 | 50 | 63
FER R Action Type NFE Double action
T &4 & Working Fluid =5 Air
EE R H AR BRI FAR SDBHE! Basis style EAR
Mounting Type LB type FAtype SDB type Basis style
T1EEIMPa

ﬂE,._jj 0.1—0.9
Working Pressure range
fit EMPa

1.35
Proof pressure
8
THREC 060G
Working temperature
TEEREMM /s
. 50 ~ 800 30 ~500

Working speed
AR {5 ¥Standard Zh# FRubber cushion
Cushion type @ #iCyshion | - l oA 2 M Adjustable cushion
& 042 Port M5x0.8 | PT1/8 PT1/4

B S Symbol

A

A iTH% Order Code

MA-U-32X100-LB

EERER
mounting style

71

Stroke

FARES

Bore
THERER
Blank Eye

Exmz CM:E E &
CM:Groud

Head cover style U:$é§; eye
U:Fixed eye

MA:Z A
. M A:Double action
RIIRS
Model MAC: & 5 2 &

. R MA C:Double action/cushion
MBFRTRIBES AR IER

% Special stroke contact us

2.076




MA. MAC::
Series
S\

A REBL# Internal Structure

HYC
HYCD

1 2 345 6 7 8 9 10 11 1213 14 15 16 HYC

HYCT
% U v ——a HYC
J | NN MBB

QGA(B)
CA1
s T Cs1
DNC
ﬁ SDA
SDAD
SDAJ
SDAT
SDAW
SDA
CQsS
CcQ2
ADVU
MAL
MSAL
MALD
FFSNo. B Part name FSNo. B Part name MALJ
1 28 Nut 9 SEZEPiston MAL
2 SEZEHFPiston rod 10 SEZEOZEPiston seal
3 B % Z# BRod packing 11 4k Piston magnet
4 2hH& Bush 12 R4k E Magnet mount MAD
5 BIE 2/ Nut 13 fif B3  Wear ring MAJ
6 BIZ Rodcover 14 Wi Washer MAR
7 AEWE Cylinder tube 15 SN IR Hexagon nut MA
8 B5#E# 5 Cushion rubblej 16 FZ Head cover CJ2
CM2
DSNU
CU
TN
CXS
oXsw
MGP
CJP
CY1B(S)
MH
F&(mm) Bore 16 \ 20 \ 25 \ 32 \ 40 \ 50 63 ZH
NG Cylinder ENzE Stainless steel
SEE Piston 2 Aluminum alloy
SEEAT Piston Rod =N (E RS T E AL 1E) High carbon steel(Industrial chrome plated)
SEFEOE  Piston seal NBR
A% Z = B Rod packing NBR
24K  Bush 28 A Oil impregnated bearing alloy
EE Rod cover HBES Aluminum alloy
BE Head cover FaE Aluminum alloy
77323 Magnet B Plastic magnet
2 Cushionrubble NBR

2.077



HEVERB—-F]I

A 5MESR~HZE %) Overall Dimension(mm)

2.078

$16~¢ 40
BERE Eye A+f72 A+Stroke
B C+f78  C+Stroke D
AY E F G |s P(H8)
L A H G/2, R
| e [
ﬁﬁm‘; 1 Lo
\&J/VBH il DT e
K W/ L ZIRET (R ) (10)\ L
AT B Cushion  screw(Option)
4Thick
FRE  Fixed eye
A1+1772 A1+Stroke
B C+f78  C+Stroke
AY E F.l.G G
M G/2
H ’
! >7‘_ _ﬁj__ oy ASlk
__Jr - I LA
| - elﬁ R
fﬁ 3 % } 1 o
T jal ’
K W/ L ZRIRET (GEFEI ) (10)
ATTIE Cushion screw(Option)
4Thick
H11% Bore A A1 B C D E F G H | J K
16 114 98 37 60 16 22 16 10 16 10 5 M6x1
20 137 116 40 76 21 28 12 16 20 12 6 M8x1.25
25 141 120 44 76 21 30 14 16 22 17 6 M10x1.25
32 147 120 44 76 27 30 14 16 22 17 6 M10x1.25
40 149 122 46 76 27 32 14 16.7 24 17 7 M12x1.25
#11& Bore L M P Q R S U % w X AR | AX AY
16 M16x1.5 14 6 12 14 9 21 6 5 M5x0.8 | 6 | 25 22
20 M22x1.5 10 8 16 19 12 27 8 6 PT1/8 7 |33 29
25 M22x1.5 12 8 16 19 12 30 10 8 PT1/8 7 133 29
32 M24x2.0 12 10 16 25 15 35 12 10 PT1/8 8 | 37 32
40 M30x2.0 12 12 20 25 15 41.6 16 14 PT1/8 9 | 47 41




A SR ~H(Z %) Overall Dimension(mm)

$50~$63

#ERA  Eye

!

M14x1.5

FREAE  Fixed eye

1474178 1471 Stroke

MA. MAC:
Series
N\

17441772 174+Stroke
52 95+1712 95+Stroke 27
32 20 23 23 11
24 15 12
‘ ‘ 2-G1/4 12 "
- 20 -oi
23
2H iR
8 Tl ]
1 | q:u ‘L:{st
[
[4
o
T e ® ¢ 1
& S u< gl =
=
> A [
< A
14
12
- 11 10 ¢
2E -
2Thick

M36x2

2-ZIRE]

2-Cushion nut

167+17% 1674 Stroke

23 20
95+17  95+Stroke 19
i i
[ [
@l = @) o] 3
—r@h 3 —— @& g =
=
HL12/#FSBore/Sign u v
50 53 16
63 67 16

HYC
HYCD
HYCJ
HYCT
HYC
MBB
QGA(B)
CA1
Ccst
DNC
SDA
SDAD
SDAJ
SDAT
SDAW
SDA
cas
cQ2
ADVU
MAL
MSAL
MALD
MALJ
MAL
MSA
MAD
MAJ
MAR
MA
CJ2
cM2
DSNU
cu
N
CXS
oXSW
MGP
CJP
CY1B(S)
MH
ZH

2.079



